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(1) T &AWL 2
(A) y=x+sinx
(B) y=x"+sinx
.1
(C) y=x+sin—
x

D y=x" +sinl
X

(2) W f(x) BA 25, g(x0)=f0)1-x)+ f(Dx , WAEXE[0,1] F:
W Hf(x)=08, f(x)=g(x)
B f'(x)>08, f(x)<g(x)
OHf"(x)=200, f(x)>g(x)

MY f"(x)=208, f(x)<g(x)

(3) () LR, W [ dy IF £ y)dx =

W [ax[" foeydy+ [ dv jf_ J(x,)dy

® [ ax] " feepdy+ [ dx[” — f 0oy

1

© Igd9fcos9+sinaf(r cos@,rsinf)dr +I;d9jolf(r cos@,rsin@)dr
2

0

1

(D) IOE dgj" cosO+sind (- cos@,r sin@)rdr +J‘;dt9J-01f(r cos@,rsinf)rdr
2

0

(4) %In(x—al cos x — b, sin x)’dx =min {j "(x—acos x —bsin x)dx } ,

o1-
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a, cosx +b,sinx =

(A) 2sinx
(B) 2cosx
(C) 2z sinx
(D) 27w cosx
0 a b 0
a 0 0 b
(5) 174150 =
0 ¢c d 0
c 0 0 d

() (ad — be)®
(B) —(ad - bc)?
©) a*d* -b*c?

D) b*c* —a*d?

6) Wa,a,,a, &=4tn5E, WHHERHEHLL, MEHa +ka,,a, + o, BT

®iH a,,a,,o0, HHETLRM:

(A) Wb B 787 2% 1

(B) 7e 7> AR b B2 A

(C) FE 73 b L2 AF

(D) BEARTE 70 SR il E 55 A

(7) WHENLFAE A5 B A E S, HP(B)=0.5, P(A-B)=0.3, N P(B-A)=

(4) 0.1
(B) 0.2
(©)0.3
(D) 0.4

(8) LB X, 5 X, MRS, B EWAETE, X, 5 X, MRS 5y
= =57 Al l v =
L) 5 f,(x), BEHUZRER Y, BEREEDN f, (V) = E[fl M+ f,(0)], FEHLAE R

1
Y=o (X X) 0
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(\) EY, > EY,, DY >DY,
(B) EY =EY,, DY =DY,
(C) EY, =EY,, DY <DY,

(D) EY, =EY,, DY, >DY,
Z. EZE: 9~ 14/, B 45, 3k 24 0 BREREEEEREEME L.

(9) B z = x*(1—sin y)+ y*(1—sinx) 7E £ (1,0,1) kb rP)F i .

(10) & f(x) ZEW N4 el SEEE, H f(x) =2(x-1), xe[0,2], M
fh=_ .

(11) W xy' + y(Inx—Iny)=0 W% y(1) =€’ il y =

(12) %L RHE x> +y° =1 5P y+2 =0 (95 %, Mz 8IE R z B R £ N4
Jit, MR § zdx+ ydz =

(13) WAL f(x,%,, %) =X =X + 2ax,x; + 4x,x; MABPERREOR 1, W o (OHUE TG

- o 2—"2,9<x<29, .
(14) BRI X MR £ (x;0) =130 Horf @ R EBH,
0, HAih,

X, Xy X, JORE MR X MFSREA, 75 E(CY XD =6, Mc=
i=1

= WS 15~23 N, 3 04 4 NS SR AR S O b WSS ST

TN .

(15) (A& 5 10 47)

1
Lx{tz [ef —IJ—t} dt
KPR lim .

o x*In (1 + IJ
X
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(16) (FAHES 10 57)
WHREy = f (x) BATR Y 43+ X0y + 6= 0B, K £ (x) KB

(17) (ARE W55 10 53)

N w2 ALY 4 L X S azz azz X 2x g

BB f (u) B I ES L z:f(e cosy)‘JVﬁE—2+—2=4(z+e cosy)e A
ox”~ Oy

£(0)=0,7"(0)=0, K f(u) 3z,

(18) (ABHWH 4 10 47)
B oM z =x% +y? (z<1) (B, 5 AR S

I= yjj(x—1)3dydz+(y—1)3dzdx+ (z —1)dxdy
2

(19) (&5 10 3)
wHs {a,},{b,} i 0<a, <§, 0<bd, <%, cosa, —a, =cosb, , HZHL D b, sk

n=1

(D) iEWl: lima, =0.

n—>0

(D GEF: 280Y 2k

n=1 0,

(20) (K4 11 53)
1-2 3 -4

WHMEA=10 1 -1 1 |, EN=FrsfisEps.
12 0 -3

(1) 3KRTTFRAH Ax = 0 — AN ILAlE R
(ID) K2 AB = E WA %R B .

(21) GE#HA 11 4)

I 1 -1 0
EWawvERE . |s|.
(22) HBHS 11 4)

WHINLEE X MRS A P{X =1} =P{X =2} =—, 74T X =i &4 T, ML=

1
2
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Y A5 45 U(0,i)i =1,2) .
(1)K Y B4 45 R 5, (9) s

IR EY).

(23) (AW 11 4)
VEAIK X B9 RSN F(x:0) = 1—€ %0 x20, foh g 2ok m s 8 A AT
0, x<0,

=5

B X, Xy, X, JIRELRIE X 1 BB HLRE A
Dk E(X)SBEX?):

(11) 3R O I KB B O, 5

n—»0

(1D RE S a, AR >0, %4 lim P{|0,—a| 2} =07
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